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8¢z questions may be answered.

All questions carry equal marka,

1. How much is 40 times £24 19s. 9d. less than £1,000 ¢ Express
jour answer (i) as a decimal and (ii) as a percentage of £1,000.

2. Find the total eost of the following items :
4 pairs of gloves at 4s. 6d. per pair;
3} yards of cloth at 5s. 9d. per yard ;
21 dozen buttons at 13d. each ;
1% Ibs. of knitting wool at 1s. 34d. per ounce;

14 gross of fasteners at 9d. per dozen.
Or,

2. Three sums of money are invested at Simple Interest as follows :
$240 at 2}9% per annum, £360 at 2}% per annum and £400 at 3%,
per annum.

Find the total interest on those three sums for (i) onme ye;.!r,
(ii) 12} years.

3. Find the cost of 20 tons 14 cwts. at £6 13s. 4d. per ton.

4. A man bought 32 sheep at £4 10s. each. He lost 2 of the sheep
and sold the remainder at a price per head which left him a profit of
25% on his total outlay. At what price per head did he sell them ¢
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Or

»

4. Simplify :

13 21— X 1§) <4 (81 = $4—13)
6. The diagonal of a square is 90-6
the square (

5 inches long. Find the area dof
1) to the nearest square inch, (i) to the nearest square foo,
6. Assuming that one cubic fc
and that the weight of a cubi

ot of water is equivalent to 6:23 gallon
nearest whole number :

ic foot of water is 625 Ibs., find to th
(i) the weight in Ibs. of a gallon of water,

(1) the number of gallons in'a ton of w ater,

Oy

»
6. The diameter of a cylinder is 2 foot 4 inches long and the cylinda
is 11 feet 3 inches high. Find (i) the volume of the eylinder to thl

nearest cubic foot, (i) the total surface area of the cylinder to the
nearest square foot.
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